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[ Answer the following 10 x 1 =10

L. In Newton-Raphson method a root of f{x) =0 lies between a and b, if‘f(a) and f(b) are

™

£
2. Newton's formula converges if

3- In Gauss elimination method, the coefficient matrix is transformed to the form,
4. The Forward operator Ay, = f

5. [teration method is a _ _ '

6. Taylor’s series for a function at two variable is series

7. The process of computing the value of the function outside the given range is called
8. The condition to apply Jacobi’s method to solve a system of equations is

9. The Simpson’s three-eight rules. Y(x) is polynomial of degree

10.  The accuracy of the result can be improved when the number of intervals are

11 Write short notes on any FIVE questions (5 x2=10)
1. [terative methods.
Z Newton’s divided difference formula.
e Crout’s method
4. Classification of Partial differential equations

Hormner’'s method

5.
6. Central difference

7  Liebermann’s iteration process.
(Il Write short notes on any FIVE questions (5 x 4=20)
I Evaluate V12 to four decimal places by Newton's Raphson method
2. Evaluate A(log x) '
3. Give the Runge Kutta method of order Second and Third
4

Write truncation error in Trapezoidal rule.

Using R.K m?thod of fourth order
If y'=y-x', y(0.6) = 1.7379.

. find y(0.8) correct to 4 decimal places, °

Solve by Gauss Seidal and Gauss Jacobi methods
-3z=-6

Solve x-y+z=1 ~3x+2y-32=-6,2x-5y+42=5,by Gauss elimination mehod.

8x—y+2=18;2x+.5y—2z=3;x+y



Answer any ONE of the following I1x10= 10

Solve Ug + Uy = 0 in over the square mesh of side 4 units satisfying the followhfg Eomdmy x
conditions, o

UOy)=0, 0<y<4
Udy)=12+y, 0<y<4 v
Ux0)=3x, 0<x<4, ' N
U(x,4) =,x2, 0<x<4,

(i) Bvaluate hl—dx Using (i) Trapezdidal rule (ii) Simpson’s rule (both) by taking h = 1
T | '

(i) Find y(2) from the following data

X 3 3 4 3 6
: |6 24 60 120
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